NI RAZ R o # — GBI AR

TR A% Citi (RFYZ U —i31 B 1K%5)
[*FRk 2 6 4] (BAL 2 %)
E@:Nl 4H 5H 6H A 81 9A 104 114 121 1A 2H 3H i
KAB—v 51.2 55.2 59.3 57.5 69. 0 51.9 4.7 66. 7 85.3 59.0 79.5 80.2 65. 6
INTR— v 75.6 72.9 73.8 72.9 68. 2 66. 7 83.5 81.7 86. 8 88.2 85.5 89.0 78.5
TR¥y 7 U — 92.9 62.1 89. 3 2.4 79.3 92.9 82.8 100. 0 76.9 73.1 69. 2 51.7 78.5
R 1 92.9 97.7 98.8 100. 0 98.9 96. 4 98.9 97.6 98. 7 92.3 96. 2 100. 0 97. 4
e 2 86. 9 80. 5 85.7 94.3 87.4 94.0 82.8 90.5 89.7 91.0 92.3 93.1 89.0
R = 3 88. 1 80.5 86.9 94.3 88.5 90.5 85.1 94.0 93.6 91.0 96. 2 95. 4 90. 2
M4 100.0 93.1 96. 4 100.0 96. 6 95.2 100. 0 100. 0 100. 0 98.7 97. 4 98.9 98.0
= 73.8 70.1 70. 2 72.4 62.1 73.5 75.9 88.1 80. 8 73.1 75.6 65.5 73.3
i 81.8 7.8 82.1 84.0 81.4 81.9 85.7 88.9 90. 1 84.2 88.1 87.2 84.4
TITF IR RA AN A A 0.0 8.0 7.1 0.0 6.9 0.0 0.0 2.4 7.7 7.7 1.3 0.0 3.4
YNTF I NAAN—AB 0.0 11.5 7.1 47.1 44.8 4.8 36.8 44.0 3.8 20.5 12.8 19.5 21.4
TR IRA AN C 0.0 11.5 7.1 23.0 42.5 0.0 37.9 44.0 3.8 20.5 12.8 17.2 18.6
ANR—AN 0.0 9.2 28. 4 32.2 39.1 0.0 17.2 34.5 1.3 6.4 16.7 17.2 17.1
it 0.0 10. 1 12.3 25.6 33.3 1.2 23.0 31.3 4.2 13.8 10.9 13.5 15.1
[Frk2 7 4] (BAL 2 %)
Nl 4H 5H 6H 7H 8H 9H 104 114 124 14 2H 3H &
KAF—v 53.6 69. 0 60.7 52.9 64. 4 77.8 81.6 83.3 80.0 62.8 76.5 76.5 69. 8
INTR—v 57.3 75.3 85. 7 72.9 83.9 81.7 91.9 95.1 89.5 88.2 7.2 91.5 82.5
HRXy 7Y — 92.9 100. 0 96. 4 69. 0 69. 0 100. 0 93.1 92.9 57.7 65. 4 92.6 79.3 84.2
fE=1 97.7 98.9 98.8 100. 0 100. 0 97.6 100. 0 100. 0 97. 4 92.3 98.8 100. 0 98.5
a2 82.1 87. 4 93.9 90. 8 88.2 96. 4 96. 6 96. 4 91.0 78.2 95.1 86. 2 90. 2
ffE= 3 84.5 88.5 95.1 96. 6 94.1 97.6 94.3 95.2 93.6 87.2 93.8 89.7 92.5
4 96. 4 94. 3 98.8 96. 6 97.7 98.8 98.9 98.8 97. 4 85.9 91. 4 97.7 96. 1
FIE 70.2 64. 4 71.4 73.6 66. 7 7.4 77.0 84.5 75.6 69. 3 77.8 66. 7 72.
Ei 78.2 83.3 86. 8 82.7 84.2 90. 2 91.5 93.3 87.8 79.9 87.5 86. 6 86. 0
TIVTF IR IRAAR—=AA 0.0 0.0 7.1 0.0 1.1 2.4 10. 3 15.5 0.0 42.3 0.0 8.0 7.0
TINF IR /RAAR—AB 20.2 2.3 8.3 37.9 65.5 31.0 40.2 33.3 0.0 39.7 24.7 40.2 28.9
TNTF IR IRAANR—=ZC 17.9 2.3 11.9 16.1 50. 6 11.9 37.9 32.1 2.6 39.7 19.8 40. 2 23.7
ANR—AN 0.0 18.4 16.7 23.0 42.5 23.8 27.6 51.2 25.0 42.3 13.6 54.0 28.2
Ei 9.5 5.7 11.0 19.3 39.9 17.3 29.0 33.0 6.8 41.0 14.5 35.6 22.0
[*Frk 2 8 ] (BAL 2 %)
E4 AR 4H 5H 6H 7H 8H 9H 104 114 121 14 2H 3H 7
KAB—v 59.5 65.5 59.5 79.3 66. 7 61.7 79.3 92.9 92.0 62.8 85.9 84.0 73.9
INTR— v 68. 3 71.8 87.8 84.7 77.6 82.9 95.3 96. 3 88.2 94. 7 85.5 86. 6 84.9
HRXy 7Y — 92.9 75.9 75.0 65.5 62.1 78.6 93.1 92.9 73.1 80. 8 84.6 62.1 77.9
M1 100.0 97.7 98.8 100.0 98.9 98.8 98.9 100.0 98.7 94.9 98.7 98.9 98.7
fHEE2 91.7 87.4 91.7 89. 7 81.6 83.3 90. 8 91.7 80. 8 88.5 92.3 98.9 89.1
M3 90. 5 88.5 95.2 90. 8 88.5 90.5 95.4 91.7 93.6 89.7 92.3 96. 6 91.9
fHEE4 100.0 100.0 97.6 96. 6 90. 8 96. 4 100.0 98.8 96. 2 96. 2 98. 7 96. 6 97.3
FIES 59.5 57.5 61.9 73.6 67.8 56.0 67.8 76. 2 66. 7 65. 4 80.8 65.5 66. 5
il 81.9 81.0 84.2 86. 8 80. 8 81.3 89. 8 92.5 87.3 84. 4 90. 4 88. 4 85.7
TIVTF IR INA RN AN 2.4 0.0 4.8 3.4 2.3 2.4 10.3 17.9 0.0 21.8 3.8 9.2 6.5
YNTF IR IRAANR—AB 22.6 8.0 15.5 51.7 47.1 17.9 29.9 47.6 25.6 17.9 20.5 43.7 29.3
VIVTF IR IRARAN—RC 13.1 18. 4 15.5 31.0 50.6 2.4 20.7 45.2 25.6 11.5 20.5 34.5 24.3
AN—AN 14.3 3.4 23.8 35.6 43.7 36.9 73.6 40.5 33.3 37.2 35.9 71.3 37.6
it 13.1 7.5 14.9 30.5 35.9 14.9 33.6 37.8 21.2 22.1 20.2 39.7 24.4




[‘Frk2 9 4] (BT : %)
E4 /A Y| 55 64 7H 8H 9A 104 11H 12/ LA 2H 3H G
KA—L 60. 7 56. 3 60. 7 64. 4 71.3 51.3 82.8 83.3 82.7 71.8 62.8 80.2|  69.0
INR— L 72.0 67.1 79.8 72.9 75.3 76.8 90. 6 90. 2 93.4 80. 3 84.2 86.6]  80.6
THRXy 7Y — 82. 1 79.3 82.1 79.3 62.1 92.9 79.3 82.1 84.6 57.7 76.9 79.3]  78.2
R 100. 0 95.4|  100.0 98.9 96. 6 98.8 98.9] 100.0 97. 4 96.2| 100.0[ 100.0| 98.5
=2 90.5 88.5 87.8 92.0 93.1 95. 2 89. 7 95. 2 83.3 85.9 91.0 97.7|  90.9
WiEE 3 92.9 90.8 92.7 97.7 88.5 95.2 89.7 90.5 88.5 88.5 91.0 97.7|  92.0
=4 96. 4 95. 4 97.6 97.7 94.3 97.6 96.6 100.0 97. 4 96.2[ 100.0 98.9| 97.3
IES 58.3 62. 1 73.8 69. 0 64. 4 69. 0 69. 0 81.0 67.9 65. 4 67.9 82.8]  69.3
it 81.6 79.4 84.5 84. 4 82. 4 84.2 87.7 91.0 87.1 82.3 84.9 91.5|  85.1
TIF IR IRR AR A 2.4 0.0 3.6 2.3 4.6 9.5 6.9 25.0 2.6 11.5 17.9 4.6 7.5
SN F )RR R A B 16.7 3.4 13.1 64. 4 54.0 32.1 48.3 23.8 25.6 11.5 33.3 58.6|  32.4
VT IR ISR A=A C 2.4 2.3 13.1 20. 7 54.0 32.1 31.0 31.0 25.6 11.5 17.9 39.1 23.6
A R—ZN 63. 1 11.5 23.8 36. 8 39.1 57.1 59.8 57.1 14.1 16.7 38.5 7471 41.4
it 21. 1 4.3 13.4 31.0 37.9 32.7 36.5 34.2 17.0 12.8 26.9 44,3 26.2
[FRk 3 04 ] (HAL : %)
E4 /AR Y| 5H 64 7H 8H 9A 104 114 125 1A 2H 3H G
KA—L 59.5 48.3 58. 3 56. 3 65.5 63.0 56. 3 86. 4 75.6 37.2 85.9 79.0[  64.0
INR—v 86. 6 77.6 84.5 76.5 76.5 82.9 87.1 87.8 86. 8 89.5 89.5 97.6|  85.1
TR¥yZ7 U — 82. 1 96. 6 75.0 58. 6 51.7 78.6 75.9 85.7 73.1 57.7 65. 4 72.4  72.8
B 1 100.0[  100.0 98.8| 100.0| 100.0 97.6| 100.0/ 100.0| 100.0 94.9 94.9 98.9] 98.8
Bz 2 95.2 85. 1 95. 1 87.4 79.3 96. 4 94.3 89.3 94.9 83.3 96. 2 88.5|  90.3
i3 96. 4 92.0 95. 1 92.0 78.2 96. 4 86. 2 96. 4 96.2 87.2 97.4 89.7]  91.8
Bz 4 95.2 93.1 98.8 95. 4 96. 6 97.6 98.9 97.6 98.7|  100.0 97. 4 98.9| 97.3
I 69. 0 63. 2 75.0 72.4 72.4 67.9 71.3 77. 4 71.8 70.5 70.5 57.5|  69.9
At 85.8 80. 7 85.9 81.8 79.9 85.8 84. 4 90.5 88. 4 79.3 89.1 86.4|  84.8
TIF IR IRE AR A 15.5 0.0 6.0 9.2 1.1 0.0 13.8 26. 2 11.5 9.0 33.3 6.9 10.8
LTSI R A B 4.8 2.3 19.0 57.5 44.8 22.6 50. 6 38.1 57.7 9.0 41.0 70.1 34.9
VT IR IRA A=A C 15.5 2.3 7.1 26. 4 43.7 20. 2 59. 8 36.9 50. 0 9.0 23. 1 58.6|  29.6
ZR—2AN 36.9 29.9 20. 2 37.9 34.5 71.4 60. 9 52. 4 44.9 24. 4 41.0 88.5|  45.5
at 18.2 8.6 13.1 32.8 31.0 28.6 46.3 38.4 41.0 12.8 34.6 56.0]  30.2
[ Fnoca %] X F 0 A )V REGYE DT LV | 3/6~3/31LRRRHARSH, (AL %)
=4,/ A5 1A 5H 6H 7H 8H 9H 10H 11H 121 LA 2H 3A i
KR—L 54.8 52.9 71. 4 64. 4 82.8 56. 3 84.5 84.5 78. 4 57.7 67.9 53.3|  68.4
INR—v 75.6 78.8 83.3 87.1 80.0 77.8 86. 6 92.7 94.7 92.1 91.1 76.9]  85.1
TRy T Y — 57.1 89.7 75.0 72.4 48.3 92.9 84.6 96. 4 46.2 53.8 70. 4 60.0] 71.5
=1 97.6 98.9 95.2 93.1 94.3 98.8 98.8| 100.0 97.4] 100.0 96.3| 100.0]  97.3
s 2 89.3 89.7 95. 1 92.0 83.9 89.3 95.2 90.5 91.0 87.2|  100.0 80.0]  91.0
HiEE 3 92.9 89.7 95. 1 94.3 89.7 92.9 95.2 94. 0 96.2 93.6| 100.0 93.3]  93.9
HEE4 100. 0 96. 6 98.8 92.0 89.7 90.5 97.6 97.6 96.2 92.3 97.5 93.3]  95.3
PAIE= 56. 0 51.7 73.8 60. 9 60. 9 65.5 82.1 78.6 76.0 57.7 76.5 66.7|  67.1
it 79.8 80. 2 86.9 82.9 81.4 82.3 91.2 91.4 88. 1 81.6 89.1 79.6|  84.8
TAF SR RAANR— AN 2.4 0.0 10. 7 3.4 3.4 2.4 31.0 22.6 6. 4 9.0 37.0 0.0 11.4
VIF R/ RA A=A B 2.4 2.3 14.3 49. 4 51.7 4.8 59.5 32.1 24. 4 11.5 64.2 13.3]  28.6
CNF IR RRA A=A C 9.5 2.3 14.3 26. 4 44. 8 4.8 52. 4 32.1 24. 4 24. 4 53.1 13.3]  25.9
A ~— AN 59.5 29.9 82.1 57.5 41. 4 72.6 83.3 73.8 21.8 67.9 48.1 93.3] 58.6
it 18.5 8.6 30. 4 34.2 35.3 21.1 56.5 40.2 19.2 28.2 50. 6 30.0  31.1




[5Fn 2 4 %] I o v F T A NV RERYSEDFEIZ LD | 4/1~6/912KEE, (AL %)
E4 /A Y| 55 64 7H 8H 9A 104 11H 12/ LA 2H 3H G
RiR—L 0.0 0.0 8.3 18.8 32.2 49. 4 51.7 56.0 73.7 44.7 69. 4 69.6]  48.5
INR— L 0.0 0.0 5.6 32.5 37.6 52. 4 63. 2 77. 4 89.7 37.8 67.2 77.3|  56.5
TR¥y 7Y — 0.0 0.0 0.0 3.4 37.9 39.3 31.0 21.4 53.8 26.9 46. 2 48.3|  31.5
s 0.0 0.0 44,2 72.9 85. 1 96. 4 98.9]  100.0 96. 2 90. 3 93.1 93.0 88.6
WEE2 0.0 0.0 46.2 70. 6 70.1 83.3 80.5 94. 0 92.3 57.8 70. 8 76.6|  75.8
WiEE 3 0.0 0.0 44,2 75.3 72. 4 84.5 87.4 92.9 96. 2 70. 1 74.2 80.5|  79.3
R4 0.0 0.0 65. 4 80. 0 82.8| 100.0 95. 4 95.2 94.9 88.6 92.8 92.5|  89.6
IES 0.0 0.0 19.2 31.8 51.7 45.2 44,8 50. 0 53.8 40. 4 58.5 63.9|  46.2
it 0.0 0.0 33.8 52.3 60. 7 71.6 72.6 78.1 83.9 59.9 74.5 78.3]  67.7
LTS IRR R R A 0.0 0.0 0.0 0.0 0.0 2.4 0.0 1.2 2.6 0.0 8.2 5.3 1.8
TSR A A B 0.0 0.0 0.0 12.9 24.1 16.7 8.0 20. 2 28. 2 7.0 33.3 42.9 19.3
S F SRR RN C 0.0 0.0 0.0 12.9 24.1 0.0 4.6 16.7 24. 4 2.8 18.2 6.3 11.4
A= AN 0.0 0.0 38.5 24.7 35.6 23.2 45.9 58.5 14.5 13.0 40. 0 51.5  34.4
it 0.0 0.0 9.6 12.6 21.0 10.5 14.5 24. 0 17.4 5.6 24.6 26.3 16.6
[4Fn 3 4] (HAL : %)
EC Y@Ll Y| 5H 64 7H 8H 9A 104 11H 125 1A 2H 3H G
KRR—L 60. 0 60. 0 57.7 67.5 90.9 47.6 75.9 67.9 74.7 60. 3 53.8 71.4f  66.4
INR— v 82.5 70. 5 74. 4 84. 4 58.0 78. 4 88. 1 82. 1 93.6 69. 2 74. 4 82. 1 78.6
HR¥y 7Y — 45.8 68. 4 39.3 41.4 34.5 89.3] 100.0 75.0 57.7 57.7 50. 0 79.3  61.7
B 1 96.9 95.7 92.5 88.8 85.3 87.0 98.7| 100.0| 100.0 94.9 78.2 92.0]  92.4
B2 82.5 83.7 93.2 86.3 78.9 90. 0 96. 3 88. 1 92.3 75.6 59. 0 82.8]  84.1
i3 89. 1 85.7 94.7 85. 1 85.5 97.1 95. 1 94. 0 88.5 79.5 60. 3 80.5|  86.1
R4 98.5 85. 1 96. 1 86.7 87.9 93.5 98.8 94. 0 92.3 79.5 74. 4 75.9|  88.5
IE 86. 0 74. 4 81. 4 75.0 80.0 81.3 90. 0 59.5 57.7 64. 1 59. 0 50.6|  70.1
it 83.6 79.1 82.3 80.0 78.5 83.2 92.2 83.3 84. 4 74.0 64.9 76.6|  80.1
TSR R R A 0.0 0.0 11.5 0.0 0.0 32.4 72.6 10.7 6. 4 2.6 17.9 13.1 15.3
ST SRR 2B 0.0 7.7 40. 6 18.0 52.1 55.9 75.9 48.8 75.6 28.2 39.7 55.2[  45.0
C TSRS RA AN C 0.0 7.7 40. 6 18.0 30.9 40. 6 75.9 51.2 60. 3 29.5 25.6 46.0]  38.6
ZR—AN 66. 7 19.5 85. 1 27.9 67.6 64.7 82.3 50. 6 40.3 40. 3 15.6 81.4 55. 1
it 18.1 8.6 44.3 15.0 38.1 48.2 76.6 40.3 45.7 25.1 24.8 49.1 38.3
[Fn44)%] CEAT %)
=4/ AR 4H 5H 6H 7H 8H 9H 10H 11H 12H 1H 2H 34 i
KR—L 47.6 62.1 41.7 77.9 90. 8 64. 2 80. 5 85. 7 91.7 70.5 88.5 89.3]  73.9
INR—v 67.9 81.6 78.6 73.6 72.4 87.7 85.1 88.1 91.8 82. 1 82. 1 93.4] 81.7
HRXy 7Y — 67.9 69. 0 57. 1 41.4 55. 2 42.9 86. 2 75.0 73.1 57.7 69. 2 82.1 64.7
= 98.8 98.8 97.6 96. 6 98.9 97.6 97.6 96. 4 98.7|  100.0 96. 2 98.9]  98.0
Bz 2 91.7 94.3 96. 4 86. 2 90. 8 88. 1 93.1 90.5[ 100.0 97. 4 97. 4 98.9| 93.6
=3 88. 1 87.4 92.8 86. 2 90. 8 85.7 90.8 90.5 94.9 93.6 91.0 96.6|  90.6
HEER4 94. 0 94.3 94.0 89.7 89.7 94. 0 98.9 98.8 97. 4 94.9 98.7 98.9| 95.2
IES 61.9 62. 1 61.9 62. 1 64. 4 59.5 63.2 70.2 67.9 66. 7 62. 8 69.0| 64.3
it 78.1 82.3 79.3 79.9 84. 0 80.7 86.9 88. 0 90.9 85.1 87.2 91.7|  84.4
ILF SRR RN KA 0.0 1.1 11.9 0.0 11.5 2.5 25.3 26. 2 19.2 11.5 35.9 21.1 13.6
VL F SRR RN B 22.6 9.2 52. 4 36. 8 54. 0 54.8 66.7 53.6 38.5 42.3 56. 4 66.7|  46.2
P T IR SRA AN A C 6.0 23.0 31.0 12.6 34.5 40.5 41. 4 51.2 38.5 39.7 37.2 63.2|  34.8
A= AN 69. 9 30. 2 50. 0 31.4 65. 1 50. 6 46.5 63.9 46.8 41.6 36. 4 62.8]  49.7
it 24.5 15.9 36. 3 20. 2 41.2 37.3 45.0 48.7 35.9 33.8 41.5 54.5|  36.1




[4Fn 5 4]

(BAL @ %)

E4 /A Y| 55 64 7H 8A 9A 104 11H 12/ LA 2H 3H G
RiR—L 61.9 58.6 59.3 79.3 84.5 75.3 82.8 76. 2 89.3 67.5 90.3 84.0|  75.5
IR =1 70. 2 73.6 81.0 92.0 83.9 89.3 93.1 88. 1 94.9 92.3 89.9 88. 1 86. 2
TR¥y 7Y — 75.0 34.5 53.6 51.7 44.8 42.9 89.7 78.6 76.9 88.5 66. 7 79.3]  64.9
s 96. 4 97.7 97.6| 100.0 98.9 97.6 98.9 98.8| 100.0[ 100.0 97.5 98.9| 98.5
WEE2 92.9 80.5 88. 1 87.4 86.2 89.3 93.1 95.2 97. 4 97. 4 92.6 93.1 91.0
WiEE 3 94. 0 82.8 90.5 89.7 85. 1 86.9 87.4 90.5 96. 2 88.5 86. 4 92.0[  89.1
R4 97.6| 100.0] 100.0| 100.0 98.9]  100.0 98.9 98.8 94.9 97. 4 96.3| 100.0[  98.6
IES 61.9 57.5 63. 1 63.2 67.8 54.8 63.2 75. 0 76.9 62. 8 77.8 72.4  66.3
it 81.8 76.6 81.5 85.7 84. 6 82.9 88.2 88.5 92.1 86. 7 89.0 89.3| 85.5
LTSS R AP Z A 0.0 3.4 17.9 4.6 12.6 15.5 14.9 28.6 20.5 10.3 21.7 8.3 13.0
TSR A A B 0.0 12.6 29.8 18.4 51.7 64.3 39.1 45.2 34.6 9.0 47.8 79.3  36.0
LTS SR AR C 3.6 12.6 26. 2 14.9 27.6 44.0 36.8 44.0 34.6 9.0 33.3 72.4[  30.0
A= AN 37.3 41.9 33.3 35.6 63. 2 29.8 64. 4 50. 0 35.9 44.9 60. 9 63.2|  46.7
it 10. 1 17.6 26.8 18. 4 38.8 38.4 38.8 42.0 31.4 18.3 40.9 56.2|  31.4




